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* 1 irreducible components of dim¢ = 0, with total 74 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(i) Arc colorings
1
ag = 0
a7 =
az =
ag =
aq =

—ul® + 508 —8ub +3ut +u?+1
—u'0 4+ 4u® — 5ub + 2ut — 2

wl —3ut +2u%+1
—u8 + 4ub — 40t

wl” — 8ul® + 25u!3 — 36wt + 19¢? + 4u” — 2u® — 4w + u
—u'® 4+ 9417 — 32015 + 55013 — 430! + 90 + 4ud —uwd +u

u?® —13u® + - +u? 41 )
2

(
(
(
(
(
(
(
(
(

arz = \ —30 + 1402 4 .- — 4ut —
uS? — 26U + -+ 2ud +u
a6 = \ —u® +27u5" + .- —ud +u
—ut0 +23u - u? 41
a1 = —U50 _|_22u48 = 4U4 _ u2
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u™ + 1320 + - -+ — 8u + 2

)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1 u™ — 15u™ + . — 21743u + 1519
C2,C3,C7 W ruP w1
C4 u™ —u™ 4 — 55u + 25
c5,C10, C11 w1
Co u™ U 4 —931u + 457
s u—3uB . 15u—1
C9, C12 w11 4 — 267w+ 11




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 Y™ 2997 + ... 4+ 17219705y + 2307361
C2,C3,C7 y74—67y73++y+1
€4 y™ +5y™ + - — 5975y + 625
€5, €10, C11 Y+ 69y + -y + 1
¢ 74 73
6 Yt + 25y 4 - - + 6053133y + 208849
Cg y74_7y73+_195y+1
Co, C12 y™ 4 61y™ 4 - 44281y + 121




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/—1CS) Cusp shape
u = —1.03301 —1.07564 0
uw = 1.044940 + 0.1026041 2.61986 + 2.875851 0
u = 1.044940 — 0.1026041 2.61986 — 2.875851 0
u = —1.156210 + 0.1910127 2.43321 — 4.723671 0
u = —1.156210 — 0.19101271 2.43321 4+ 4.723671 0
u = 1.158590 4 0.2186691 8.21260 4 7.938711 0
u 1.158590 — 0.2186691 8.21260 — 7.938711 0
u=1.196130 4 0.1448221 2.98003 + 1.085151 0
uw= 1.196130 — 0.1448227J 2.98003 — 1.085151 0
u=0.320215 + 0.7044871 8.01003 + 11.140007 0.39689 — 8.476441
u=0.320215 — 0.7044871 8.01003 — 11.140007 0.39689 + 8.476441
u = —0.315680 + 0.6955291 2.04162 — 7.749641 | —3.30901 + 8.853841
u = —0.315680 — 0.6955291 2.04162 4 7.749641 | —3.30901 — 8.853841
u = —0.338213 + 0.6798621 8.91437 — 0.940781 1.86731 + 2.759451
u = —0.338213 — 0.6798621 8.91437 + 0.940781 1.86731 — 2.759451
u = 0.320814 4 0.6804201 2.53500 + 3.646641 | —1.83229 — 2.762211
u = 0.320814 — 0.6804201 2.53500 — 3.646641 | —1.83229 + 2.762211
u = 0.600609 + 0.4327831 9.12086 — 7.189451 2.91452 4 2.881041
u = 0.600609 — 0.4327831 9.12086 + 7.189451 2.91452 — 2.881041
u = —1.244690 + 0.2037901 8.80185 + 1.443731 0
u = —1.244690 — 0.2037901 8.80185 — 1.443731 0
u = 0.255238 + 0.6781241 1.10543 + 6.031981 | —4.27580 — 8.072171
u = 0.255238 — 0.6781241 1.10543 — 6.031981 | —4.27580 + 8.072171
u = —0.545619 4 0.4653861 9.78040 — 2.944551 3.94521 4 3.503171
u = —0.545619 — 0.4653861 9.78040 + 2.944551 3.94521 — 3.503171
u = —0.580884 4 0.4178721 3.13814 4 3.887211 | —0.60973 — 3.223331
u = —0.580884 — 0.4178721 3.13814 — 3.887211 | —0.60973 + 3.223331
u = —0.229715 + 0.6577011 —3.02571 — 3.014161 | —10.84049 + 5.921971
u = —0.229715 — 0.6577011 —3.02571 4+ 3.014161 | —10.84049 — 5.921971
u= 0.544204 + 0.4309111 3.50761 4 0.144091 0.63672 — 3.504081




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

= 0.544204 — 0.4309111

3.50761 — 0.144091

0.63672 + 3.504081

= 0.180185 + 0.6488221

0.206108 + 0.2080451

—6.68575 — 1.169761

0.180185 — 0.6488221

0.206108 — 0.2080451

—6.68575 + 1.169761

0.043373 + 0.6676551

4.86508 — 4.631101

—3.42865 + 2.903501

0.043373 — 0.6676551

4.86508 + 4.631101

—3.42865 — 2.903501

1.344970 + 0.1830301

3.43197 4 1.125121

0

1.344970 — 0.1830301

3.43197 — 1.125121

0

—0.354775 + 0.5356091

5.20691 — 1.663351

3.09565 + 4.275611

—0.354775 — 0.5356091

5.20691 + 1.663351

3.09565 — 4.275611

—0.055516 + 0.6274891

—0.83877 + 1.626901

—7.90840 — 3.458191

= —0.055516 — 0.6274891

—0.83877 — 1.626901

—7.90840 + 3.458191

0.592806 + 0.2052381

2.64797 — 2.622831

—0.82675 + 2.904161

0.592806 — 0.2052381

2.64797 + 2.622831

—0.82675 — 2.904161

SIS RS B = S N = < I~ ) B S S B S ) E S B R RS
\

= —1.367910 + 0.1150251 8.34672 4 1.481941 0
= —1.367910 — 0.1150251 8.34672 — 1.481941 0
= —1.368940 + 0.2439931 5.12052 — 3.436001 0
= —1.368940 — 0.2439931 5.12052 + 3.436001 0
= —1.385570 + 0.2163761 4.94675 — 3.915351 0
= —1.385570 — 0.2163761 4.94675 + 3.915351 0
= 1.389990 + 0.2559511 2.13515 + 6.339531 0
= 1.389990 — 0.2559511 2.13515 — 6.339531 0
u = —1.40031 + 0.265261 6.38349 — 9.465961 0
u = —1.40031 — 0.265261 6.38349 + 9.465961 0
u= 142079+ 0.211101 10.85890 +- 4.438761 0
u= 142079 —0.211101 10.85890 — 4.438761 0

u= 0.206283 + 0.5243131

—0.161322 4 1.1341301

—2.63011 — 5.692361

u= 0.206283 — 0.5243131

—0.161322 — 1.1341301

—2.63011 + 5.692361

u = —1.42841 + 0.263651 8.13467 — 7.093161 0
u = —1.42841 — 0.263651 8.13467 4 7.093161 0
u = —1.44510 + 0.149161 9.77486 — 2.208081 0




Solutions to I} V—=1(vol +/—=1CS) Cusp shape
u = —1.44510 — 0.149167 9.77486 + 2.208081 0
u = 1.44646 4 0.138557 9.50233 — 1.957201 0
u = 1.44646 — 0.138551 9.50233 + 1.957201 0
u=1.42809 + 0.270081 7.62286 + 11.270007 0
u = 1.42809 — 0.270081 7.62286 — 11.270007 0
u = —1.43094 4 0.273291 13.6165 — 14.70261 0
u = —1.43094 — 0.273291 13.6165 + 14.70261 0
u=1.43495+ 0.261031 14.5965 + 4.37481 0
u = 1.43495 — 0.261031 14.5965 — 4.37481 0
u = —1.45330 + 0.134631 15.6001 + 5.25881 0
u = —1.45330 — 0.134631 15.6001 — 5.25881 0
u= 1.45302 + 0.154681 16.1228 + 5.13531 0
u= 1.45302 — 0.154681 16.1228 — 5.13531 0
u = —0.526726 —1.25260 —7.49050




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1 u™ —15u™ 4+ - — 21743u + 1519

C2,C3,C7 T TR |
C4 u™ —u™ 4 — 55u + 25

Cs5,C10; C11 ut B w1
Co u™ +u™ 4 — 931u + 457
cs u™ —3u™ 4 15u— 1

¢y, C12 u™ —11u™ 4+ — 267u + 11




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

€1 y™ 29y + ... + 17219705y + 2307361
C2,C3,C7 y 6Ty -y 41

Ca Y™+ 5y - — 59TEy + 625

cs5,C10, C11 Y69y oy 41
C6 y™ 4+ 25y™ + - + 6053133y + 208849
Cg Y™ Ty 4~ 195y + 1

Co, C12 Y™+ 61y™ + -+ 4281y + 121




